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MAJOR MATH 2 – 1st TEST 

 

 

 

 

 

1. Match.            ………./2        

 

 

  

Student’s name: ……………………………………………………………. 

Class: ……………………………………………………………………………… 

Date: ……………………………………………………………………………… 

Score 

……………/ 10 

15 

13 

12 

20 
17 

14 

16 

18 

11 

19 

eleven 

sixteen 

fifteen 

thirteen 

seventeen twenty 

nineteen 

eighteen 

fourteen 

twelve 
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2. Look at the number line and circle the correct answer. There’s an example.                ………/2 

 

 

a) Which number comes just before number 12?  

 

 

b) Which number comes just before number 18?  

 

 

c) Which number comes right after number 16?  

 

 

d) Which number comes right after number 15?  

 

 

e) Which number comes just before number 19?  

 

 

3. Match.             ………/2 

a)   b)   c)   d)   e)    

  

 

 

 

 

 

 

  

13 10 11 

19 20 17 

15 17 18 

16 14 13 

12 20 18 

8 + 6 6 + 9 15 - 2 19 + 1 

twenty thirteen fourteen fifteen 

15 - 4 

eleven 
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4. Read and circle the correct answer.         ………/2 

a) Eleven plus two equals thirteen.  

A.       B.  

b) Nineteen minus one equals eighteen. 

 A.       B.  

c) Nine plus six equals fifteen. 

 A.       B.  

d) Eight plus eight equals sixteen.  

 A.      B.   

e) Fifteen minus three equals twelve. 

 A.       B.  

5. Read and fill in the blanks.          ………/2 

a) There are 20 apples in the tree. 2 apples fall down. How many apples are left?  

 

There are ………………………. apples left. 

b) Jack has 12 balloons. Sam has 5 balloons. How many balloons do Jack and Sam have altogether? 

 

Jack and Sam have  ………………………. balloons altohether.  

c) Jill has 9 eggs. Alice has 4 eggs. How many eggs do Jill and Alice have altogether?  

 

Jill and Alice have ………………………. eggs altogether. 

d) There are 17 birds in the tree. 4 birds fly away. How many birds are left?  

 

There are ………………………. birds left. 

e) There are 14 crayons on the table. 1 crayon falls down. How many crayons are left?  

 

There are ………………………. crayons left. 

11 – 2 = 9 11 + 2 = 13 

19 + 1 = 20 19 – 1 = 18 

9 + 6 = 15 9 - 6 = 3 

8 + 6 = 14 8 + 8 = 16 

15 – 3 = 12 15 + 3 = 18 

20 – 2 = 18 

18 

   =  

   =  

   =  

   =  


